SOLUTION & ANSWER FOR AIEEE-2008 
 VERSION – A1
[PHYSICS,]

1.     A body of mass m = 3.513 kg …….
  
        Ans :  3
  
        Sol:     min (4, 3)
                    = 3
                
2.     Consider a uniform square plate of side …….
        
        Ans :   
  
        Sol:       I = I cm + md2
                      = [image: image1.png]



                     = [image: image2.png]



  
3.     The speed of sound in oxygen ……..
  
        *Ans :     1419 m/s
  
        Sol: [image: image3.png]



                [image: image4.png]



                = [image: image5.png]



                [image: image6.png]



                v He = [image: image7.png]



                = 1419 m/s
  
                        * None of the given answers matches with our           answer.
  
4.     A thin spherical shell of radius R has ……..
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	[image: image8.png]





  
        Ans : 
  
  
  
        Sol:     E = 0, r < R
                    E = [image: image9.png]


r > R
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5.     Relative permittivity and permeability of a ……
        
        Ans :   e r = 1.5, m r = 0.5
        
        Sol:     m r < 1 for diamagnetic 
                    e r > 1 for all materials              
  
6.     Suppose an electron is attracted towards the …..  
        
        Ans :   Tn independent of n, rn µ n
  
        Sol:     [image: image11.png]



                    Þ [image: image12.png]


independent of n
                    mvr = [image: image13.png]


  Þ r µ n
                    
7.     A block of mass 0.50 kg is moving with a speed…
        
        Ans :   0.67 J
  
        Sol:     [image: image14.png]



                    = [image: image15.png]



  
8.     A wave traveling along the x-axis is …..
  
        Ans :   a = 25.00 p , b = p 
  
        Sol:     a = [image: image16.png]



                    b = w = [image: image17.png]



                    Þ a = 25.00 p , b = p 
  
9.     A working transistor with its three legs….
  
        Ans :   it is npn transistor with R as base. 
  
        Sol:     Emitter to collector will always be non                        conducting.
  
10.  A jar is filled with two non-mixing …….
  
        Ans :   r 1 < r 3 < r 2 
  
        Sol:     r 3 floats in r 2 and sinks in r 1 
                    = r 1 < r 3 < r 2 
  
11.  An athlete in the Olympic games…….
  
        Ans :   2000 J – 5000 J
  
        Sol:     v is of the order of 10 ms- 1 and mass is             around 50 kg Þ 2000 J – 5000 J
  
12.  A parallel plate capacitor with air between……
  
        Ans :   40.5 pF
  
        Sol:     C 1 = 9 ´ 3 ´ 3 = 81
                    C 2 = [image: image18.png]



                    C = [image: image19.png]


= 40.5 pF
  
13.  The dimension of magnetic field in …….
  
        Ans : MT- 1C- 1 
  
        Sol:     F = Bqv
                    [B] = [image: image20.png]



                    = MT- 1C- 1 
  
14.  A body is at rest at x = 0. At t = 0 …….
t
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	[image: image21.png]





  
        Ans :   
  
  
  
  
  
        Sol:     x 1 - x2 = [image: image22.png]
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	[image: image23.png]





  
  
  
  
  
15.  In the circuit below, A and B represent …..
  
        Ans :   OR gate
  
        Sol:     Either A or B is high, it pulls C high
                    Þ OR gate
  
16.  While measuring the speed of sound ……
  
        Ans :   x > 54
  
        Sol:     Speed increases slightly with                               temperature Þ l increases Þ for second             resonance x > 54
  
17.  Shown in the figure below is a meter-bridge…..
  
        Ans :   220 W 
  
        Sol:     [image: image24.png]



                    R = 220 W 
  
18.  A spherical solid ball of volume V is …….
  
        Ans :   [image: image25.png]



  
        Sol:     Kv 2 = mg - FB
                    = (r 1- r 2) Vg
                    v = [image: image26.png]



  
19.  A thin rod of length ‘L’ is lying along ……
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[image: image27.png]


        Ans :   
  
  
  
  
  
  
        Sol:     x cm = [image: image28.png]


= [image: image29.png]
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	[image: image30.png]





  
  
  
  
  
  
  
20.  A planet in a distant solar system is ……
  
        Ans :   110 km s- 1 
  
        Sol:     v esc = [image: image31.png]



                    [image: image32.png]


= [image: image33.png]



                    Þ v2 = 110 km/s
        
21.  An insulated container of gas has two……
  
        Ans :   [image: image34.png]



  
        Sol:     n 1 CV T1 + n2 CV T2 = (n1 + n2) CV T
                    T = [image: image35.png]



  
22.  Two full turns of the circular scale …..
  
        Ans :   3.38 mm
  
        Sol:     3 + [image: image36.png]



                    = 3.38 mm
  
23.  A horizontal overhead powerline is ……
  
        Ans :   5 ´ 10- 6 T southward
  
        Sol:     
E
W
[image: image37.png]


  
  
  
                    B = [image: image38.png]


= 5 ´ 10- 6 T
  
24.  An experiment is performed to find …..
  
        Ans :   a vernier scale provided on the                    microscope
  
        Sol:     Vernier scale on the microscope
  
25.  A 5 V  battery with internal resistance …..
  
        Ans :   0.03 A P2 to P1
  
        Sol:     E eff = [image: image39.png]


Þ I = 0.03 A P2 to P1
  
  
  
26.  A capillary tube (A) ……
  
A
B
[image: image40.png]


        Ans :   
  
  
  
  
  
  
                    Sol:     Surface tension is lowered.
  
27.  Two coaxial solenoids are made ……
  
        Ans :   2.4 p ´ 10- 4 H
  
        Sol:     M = [image: image41.png]


= 2.4 p ´ 10- 4 H
  
28.  A student measures the focal ….
  
v (cm)
O
u (cm)
[image: image42.png]


        Ans :   
  
  
  
  
  
  
  
  
        Sol:     u < 0, v > 0
  
29.  This question contains statement – 1
  
        Ans :   Statement – 1 is true, Statement – 2 is               true; Statement – 2 is a correct                                 explanation for Statement -1
  
        Sol:     Gauss law for gravitation
  
30.  This question contains statement - 1 
  
        Ans :   Statement – 1 is true, Statement – 2 is               false’
  
        Sol:     BE per nucleon increases for lighter                   nuclei and decreases for heavy nuclei.
  
31.  For current entering ….
  
        Ans :   [image: image43.png]



  
        Sol:     j ´ 2p r2 = I 
                    E = r j = [image: image44.png]



32.  D V measured between B and C is 
        
        Ans :   [image: image45.png]



  
        Sol:     D V = [image: image46.png]



                    = [image: image47.png]



  
33.  If a strong diffraction peak is observed when        electrons are incident at an angle `i’ - 
  
        Ans:    2d cos i = n l dB 
  
        Sol:     2d cos i = n l dB
  
34.  Electrons accelerated by potential V are        diffracted from a crystal. - 
  
        Ans:    50 V
  
        Sol:     [image: image48.png]



                    = 50 V
35.  In an experiment, electrons are made to pass     through a narrow slit of
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N
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        Ans:    
  
  
  
  
  
  
